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QUESTION 1
Identify three statements that are true about reservations in back-to-back processing.
A. Partial fulfillment of reservations is supported.

B. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain
Orchestration work area.

C. Reservations cannot be created for back-to-back On Hand supply orders.
D. One reservation is created for a demand and supply.

E. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand
inventory.

Correct Answer: BDE

QUESTION 2

Given the code fragment:

Account.java:

public class Acount {
private int accld = 12345;
/[ getters and setters

Customer.java:

public class Customer {
private Account acc; //line 1
public void setAcc{Account acc) // line 2
{ this.acc=acc; }
public Account getAcc() // line 3
{ return acc; }

And
index. xhtmi:

<h:outputText value = "The Id is #(customer.acc.accld)" />

Which two steps, when performed independently, enable the index.xhtml page to print the following text: The Id is
123457 (Choose two.)
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A. Replace line 2 with: @Inject public void setAcc(Account acc)
B. Replace line 3 with: @Inject public Account getAcc()

C. Replace line 1 with: @Inject private Account acc;

D. Replace line 3 with: public @Inject Account getAcc()

E. Replace line 1 with: private @Inject Account acc;

F. Replace line 2 with: public void setAcc(@Inject Account acc)

Correct Answer: DF

QUESTION 3

In the Back-to-Back (B2B) Order to Cash flow, ordered items are purchased from a supplier. The Sourcing Rules have
been defined for the item and the buy flow has been initiated. The sales order line is shown as Awaiting Shipping and
the supply line status is in "Purchasing” with the supply order generated but the purchase requisition not generating.
What is the reason?

A. The sourcing rule is incorrect.

B. Supply order is generated with exceptions.

C. Prepare is not valid.

D. No Blanket Purchase Agreement (BPA) exists for this supplier-item combination.

E. Buy requests originate from Order Management.

Correct Answer: A

QUESTION 4

Which type allows you to share servlet attributes across your entire web application?
A. ServletContext

B. HttpSession

C. ServletRequest

D. ServletConfig

Correct Answer: A

Reference: https://stackoverflow.com/questions/123657/how-can-i-share-a-variable-or-object-betweentwo-or-more-
servlets
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QUESTION 5

Given the code fragment from a Facelet page: On Line 1, you ae asked to insert a search box that displays the text
"Search Here" via a placeholder. Assume searchMB is a valid Managed Bean.

<ui:composition xmlns="http:/ /www.w3.org/1999/xhtml"
xmins:h="http:/ /xmins.jep.org/jsf/ html"
xmins:pt="http:/ / xmlns.jcp.ore/ st/ passthrough"
xmlins:f="http:/ / xmlns.jcp.org/jsf/ core"
xmins:jsf="http:/ / xmlns.jcp.org/jst"
xmins:ui="http:/ /java.sun.com/ jsf/ facelets">
<h:form id="searchForm">
<!-Linel-—>
<h:commandButton value="Search"
action="+#{searchMB.search}" />
</ h:form=>
</ui:composition=>

Which two options enable you to create a search box with a placeholder attribute on Line 1? (Choose two.)
A.
B.

C.
D.
E.

Correct Answer: CE
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